Editing

Full Stops, Capitals, Commas, Spelling

Edit the following passage about rainforests. Use the checklist to help.

Layers of a Rainforest

A very large number of plants grow in rainforests | emerment toyer

because there is so much sunlite and rainfall. Canopy

Rainforests also provide animils with many e

Forest Floor) %

places two live. the largest rainforest in the world S

is the amazon rainforest.

Rainforests have four main |ders. The first |der is the forest floor \/ery
little sunlight reaches the forest floor and so it is very darck here. Above
the forest floor is the understory. Shrubs bushes and younger trees are
found in this |0yer the canopy |oyer is like a roof over the rainforest. it is
home to more life then any of the other |ders at the top is the emergent

layer the very tallest of the trees are

5 missingd full stops O

fownd in this layer. The sunlight is very
7 missingd capital letters [}
strong up this high

1 missing comma =

6 spelling errors [
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Editing Answers

Full Stops, Capitals, Commas, Spelling

Edit the following passage about rainforests. Use the checklist to help.

Layers of a Rainforest

A very large number of plants grow in rainforests because there is so
much sunlight and rainfall. Rainforests also provide animals with many
p|oces to live. The |0rges’r rainforest in the world is the Amazon Rainforest.
Rainforests have four main loyers.

The first layer is the forest ﬂoc@\/ery little sunlight reaches the forest
floor and so it is very dark here. Above the forest floor is the understory.
Shrub@bushes ond younger trees are found in this |Oy@The canopy layer
is like a roof over the rainforest. [t is home to more life than any of the
other |oye@AT the top is the emergent layer. The very tallest of the trees

are found in this layer. The sunlight is very strong up this hig@
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